CHAPTER 1 – WHAT IS ECONOMICS?

I.  Definition of Economics

The first thing that we should discuss is the definition of "economics." Economists generally define economics as the study of how individuals and societies use limited resources (πλουτοπαραγωγικούς πόρους) to satisfy unlimited wants. To see how this concept works, think about your own situation. Do you have enough time available for everything that you wish to do? Can you afford every item that you would like to own? Economists argue that virtually everyone wants more of something. Even the richest persons in society do not seem to be an exception to this phenomenon. 

This problem of limited resources and unlimited wants also applies to society as a whole. Can you think of any societies in which all wants are satisfied? Most societies would prefer to have better health care, higher quality education, less poverty, a cleaner environment, etc. Unfortunately, there are not enough resources available to satisfy all of these goals. 
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So, economists argue that the fundamental economic problem is scarcity (στενότητα). Since there are not enough resources available to satisfy everyone’s wants, individuals and societies have to choose among available alternatives. An alternative, and equivalent, definition of economics is that economics is the study of how such choices are made. 

II.  Big Economic Questions

All economies, no matter what their form of economic organization, must address what are known as the "three fundamental questions:" 

· What? What goods and services are produced and in what amounts? Since resources are limited no economy can produce all the goods and services a society may want. And since more of one good or service means less of others, every society must choose which and how much of each good and service to produce.

· How? How are goods and services produced? It concerns decisions on the technique (or production method – μέθοδο παραγωγής) and the combination of resources to be used in producing a good or service. Since a good or service can be normally be produced different combination of resources and by different techniques, decisions must be made on which to use. Production is limited; therefore, society should choose the technique which has the smallest use of resource (that is, the least possible cost – το χαμηλότερο δυνατό κόστος) for each unit of good and service produced.

· Who? Who consumes the goods and services produced? It focuses on the distribution (διανομή) of the economy’s output (παραγωγή). A difficult problem of choice arises regarding the quantity of output that will be distributed to each member of the society. The obvious reason for this is not all individuals earn the same income. So, rich persons will be able to consume more goods and services than poor persons.
Another two related questions are:

· When? When are goods and services produced? It refers to the choice of the time period that goods and services will be produced according to the state of the economy. If, for example, the economy is in a recession (ύφεση), we should expect less goods and services to be produced since business activity is lower and firms (επιχειρήσεις) are forced to lay off (απολύσουν) workers.

· Where? Where are goods and services produced? If refers to the location (τοποθεσία) where production takes place. For example, many multinational corporations (πολυεθνικές επιχειρήσεις) have factories in Asian, African or Third World countries where unemployment (ανεργία) is high and the cost of labour low.

III.  Big Ideas of Economics

The concept of opportunity cost

Having to make choices about what you consume, how you spend your time etc. is a consequence of scarcity. People act rationally (ορθολογικά) if they compare the costs and benefits of any activity and then decide to engage in that activity if that choice maximizes choice relative to cost. This is not a particularly 'economic' theory - it is the foundation of most theories in psychology relating to human behaviour. 
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It is important to understand that this comparison of costs and benefits is very subjective (υποκειμενική). For example, assume the following is the choice faced by two people: to purchase an expensive wide screen TV or to spend the same amount of money on a holiday. In this case the costs are identical (the money to be spent) but the benefits could be very different. TV Choice: For one person the ability to watch films on a screen with 'proper' movie proportions may be very important, the other may be primarily interested in talk shows (therefore the screen proportions may not be so important). Holiday Choice: The person preferring talk shows may be very interested in visiting exotic foreign countries while the film lover may want a cheap holiday on a sunny beach.
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Because all market costs in modern economies are expressed in monetary terms, economists have spent some time puzzling over the notion of what an 'economic cost' is the cost of any alternative is defined as the cost of not selecting the "next-best" alternative. So, this opportunity cost (κόστος ευκαιρίας ή εναλλακτικό κόστος) depends on what else you could have done with the resource (with the money if you are about to buy a product or service).

EXAMPLES

Buying a TV costing €200
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Example

Suppose I have a choice of spending
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OPPORTUNITY COST

The opportunity cost is the next best use of the €200.  This will always be a subjective analysis and will vary from person to person. So, the opportunity cost might be buying some new clothes for one person, throwing a party for another, spending the amount of books for a third, and so on. The decision depends on a comparison of the benefits of the various possibilities. The TV provides the greatest benefit, the opportunity is the activity/product that provides the next largest benefit.

Selling the TV

The first point to note is that the original price is irrelevant to this decision. The decision making process can be formalized as follows:

· List the benefits to you of continuing to use the TV.

· Find the best second hand price you can obtain for the TV.

· List the benefits of next best use of this money (this is the opportunity cost).

· If the benefits of the next best use of the money are greater than the benefits of continued use of the TV then the decision to sell the TV is rational, otherwise the rational decision is to keep the TV.

Rent or sell the building?

Suppose that you own a building that you use as a retail store. If the next-best use of the building is to rent it to someone else, the opportunity cost of using the business for your business is the rent you could have received. If the next-best use of the building is to sell it to someone else, the annual opportunity cost of using it for your own business is the foregone interest that you could have received (for example, if the interest rate is 10% and the building is worth €100,000, you give up €10,000 in interest each year by keeping the building, assuming that the value of the building remains constant over the year - depreciation or appreciation would have to be taken into account if the value of the building changes over time). 

Going to a movie

If you go to a movie, the opportunity cost includes not only the cost of the tickets and transportation but also the opportunity cost of the time required to watch the movie. 

Choice at the margin

Choices are made in small steps, at the margin; these choices are influenced by incentives. Marginal analysis, which compares the marginal cost (οριακό κόστος) of an activity (the added cost from making a small change) to the activity’s marginal benefit (οριακό όφελος - the additional benefit from the small change), is how people make decisions. In economics we assume (υποθέτουμε) that people attempt to maximize the net benefit associated with each activity. If marginal benefit exceeds marginal cost, net benefit will increase if the level of the activity rises. Therefore, rational individuals will increase the level of any activity when marginal benefit exceeds marginal costs. On the other hand, if marginal cost exceeds marginal benefit, net benefit rises when the level of the activity is decreased. There is no reason to change the level of an activity (and net benefit is maximized) at the level of an activity at which marginal benefit equals marginal cost.

· Voluntary exchange (εθελούσια συναλλαγή) makes both buyers and sellers better off and markets are an efficient (αποδοτικός) way to organize exchange. People engage in voluntary exchange only if they expect the exchange to make them better off, so everyone gains from voluntary exchange. Most exchange in our economy takes place in markets. Markets are efficient because they send resources to the place where they are most highly valued.

· The market does not always work efficiently so sometimes government action is necessary to overcome market failure and lead to a more efficient use of resources. Market failure is not when prices rise (or are high) or prices fall (or are low). Market failure may occur when one firm controls the market and restricts the quantity it produces; when producers fail to take into account all the costs of production; or when the good being produced can be consumed by everyone without paying for it.

· For the economy as a whole, expenditure equals income equals the value of production. Spending money on a product generates income for the producers of a product.

· Living standards improve when production per person increases. When productivity (παραγωγικότητα) – production per person – increases, living standards increase because people can buy more products.

· Prices rise when the quantity of money increases faster than production does. Inflation (πληθωρισμός) is the process of rising prices. 

· Unemployment (ανεργία) can result from market failure but some unemployment is productive. Some unemployment is normal and helpful as people search for good jobs and firms search for good employees. Some unemployment is wasteful because it results from swings (ups and downs) in total production.

IV. What Economists Do

Economics is divided into two areas: microeconomics and macroeconomics.

Microeconomics studies the decisions of individual households and firms, the way individual markets work and how individual regulations and taxes affect markets.

Macroeconomics examines national and global economies. It looks at the determination of the overall level of economic activity such as the amount of total employment and also studies how government actions affect the aggregate economy.

[image: image5.wmf]Statements about the economy

either

Positive

Statement of fact.

May be

tested

.

Statement may be

true

or

false

.

Normative

Statement of what is

desirable

,

should be

or what is

good

 or

bad

. It involves a

personal

 opinion.

It cannot be tested

.


Economic science attempts to understand the economic world. The distinction between “what is” and “what ought to be” is important.

Positive statements (θετική προσεγγιση) describe how the world actually is; they can be tested and possibly rejected if there is insufficient evidence. Positive statements tell “what is”.

Normative statements (δεοντολογική προσέγγιση) tell how the world should be; they depend on value judgments and cannot be tested. Normative statements tell “what should be”.

Example:

"Older people have very high medical expenses compared with the rest of the population and the government should subsidize (επιδοτεί) their health bills". 

The statement above is both positive and a normative. The first part is a positive statement because it can easily be proved by scientific methods (statistically) whether older people have higher medical expenses. The second part is clearly a normative statement because it expresses a personal opinion – some would agree and others would disagree. 

In their pursuit of economic science, economists observe and measure economic variables and then build and test models designed to help explain the observed facts. The scientific method consists of the following steps: 

1. Observe a phenomenon, 

2. Make simplifying assumptions and develop a model (a set of one or more hypotheses), 

3. Make predictions, and 

4. Test the model. 

If the model is rejected in step 4, formulate (make) a new model. If the test fails to reject the model, conduct additional tests. 

1. Economic models are abstract and are used to make predictions about the real world. A model must contain assumptions about what is important and what can be ignored.

2. Economic theory is a link between an economic model and the real world. It is a generalization summarizing our understanding of the economic issue being examined. A process of building and testing economic models develops an economic theory.

In developing economic models, the ceteris paribus (Latin for “other things equal” – οι υπόλοιποι παράγοντες παραμένουν αμετάβλητοι) assumption is used to concentrate on the effect from a single variable in isolation from all others.

Two pitfalls (errors in reasoning – λανθασμένοι συλλογισμοί) can occur in the construction of economic theories:

1. The fallacy of composition is the false assertion (ισχυρισμός) that what is true for one must be true for the whole or, alternatively, what is true for the whole must be true for one. An example of the fallacy of composition would be “since anyone could become rich by stealing from his or her neighbors (and he is not caught), everyone can become richer if they all steal from their neighbors.”

2. The post hoc fallacy is the claim that one event caused another simply because the first event occurred before the second. For example, suppose that every summer the population of an Indian tribe perform the ritual of dancing around the fire so that it will rain. The next day, it starts raining. Can we safely conclude that event A, the rain dance, has caused event B, the rain? 
QUESTIONS

True/False

1. Scarcity is a problem only for the poor.

2. Macroeconomics studies the factors that change national employment and income.

3. Answering the question “What goods and services are produced?” automatically answers the question, “How are goods and services produced?”

4. An example of the “how” question is: “How does the nation decide who gets the goods and services that are produced?”

5. “For whom are goods and services produced?” is one of the big macroeconomic questions.

6. Tradeoffs mean that you give up one thing to get something else.

7. There is no such thing as a “how” tradeoff because a business uses only one way to produce its products.

8. The opportunity cost of buying a slice of pizza for €3 rather than a hot dog for €3 is the hot dog.

9. A positive statement is about what is; a normative statement is about what will be.

10. The idea of ceteris paribus is used whenever a post hoc fallacy is being examined.

Multiple choice

1. The fact that wants cannot be fully satisfied with available resources illustrates the definition of

a. the standard of living.

b. scarcity.

c. the output-inflation tradeoff.

d. for whom to produce.

2. Studying the effects choices have on the national economy is part of

a. scarcity.

b. microeconomics.

c. macroeconomics.

d. global science.

3. Which of the following is NOT one of the three big microeconomic questions?

a. What goods and services are produced?

b. How are goods and services produced?

c. For whom are goods and services produced?

d. Why are goods and services produced?

4. The question, “Should personal computers or DVDs be produced?” is an example of the

a. “what” question.

b. “how” question.

c. “where” question.

d. “who” question.

5. People have different amounts of income. This observation is most directly related to which of the big microeconomic questions?

a. The “what” question.

b. The “how” question.

c. The “why” question.

d. The “who” question.

6. From 9 to 10 in the morning Maria can sleep, go to her economics class or play tennis. Suppose that Maria decides to go to class but thinks that if she had not gone to class she would have slept. The opportunity cost of going to class is

a. sleeping and playing tennis.

b. playing tennis.

c. sleeping.

d. none of the above.
7. When the government chooses to use resources to build a hospital, these resources are no longer available to build a highway. This choice illustrates the concept of

a. a market.

b. macroeconomics.

c. opportunity cost.

d. marginal benefit.

8. A positive statement is

a. about what ought to be.

b. about what is.

c. always true.

d. one that does not use the ceteris paribus condition.

9. Which of the following is a positive statement?

a. The government must lower the price of a pizza so that more students can

   afford to buy it.

b. The best level of taxation is zero percent because then people get to keep

    everything they earn.

c. My economics class should last for two terms because it is my favorite class.

d. An increase in college fees will lead fewer students to go to college.

10. An economic model includes

a. only normative statements.

b. no use of ceteris paribus.

c. all known facts about a situation.

d. only details considered essential.

11. The Latin term ceteris paribus means

a. “false unless proven true.”

b. “other things the same.”

c. “after this, then because of this.”

d. “not correct, even though it is logical.”

12. One student from a class of 30 can walk easily through a door. Assuming that all 30 students simultaneously therefore can walk easily through the same door is an example of the

a. opportunity cost fallacy.

b. fallacy of composition

c. fallacy of substitution.

d. post hoc fallacy.

13. The post hoc fallacy is the

a. assertion (ισχυρισμός) that what is true for a part of the whole must be true for the whole.

b. claim that one event caused another because the one event came first.

c. use of ceteris paribus in order to study the impact of one factor.

d. claim that the timing of two events has nothing to do with which event  

   caused the other.

Short-answer questions

1. “In the future, as our technology advances even further, there will be no scarcity. In the high-tech future, scarcity will be gone.” Do you agree or disagree with this claim? Explain your answer and what scarcity is. Why does the existence of scarcity require choices?

2. What are the factors of production? Focusing on the factors of production, describe the relationship between the big microeconomic question “How are goods and services produced?” and the question “For whom are goods and services produced?”.

3. Why does your decision to buy a hot dog from Everest reflect a tradeoff? Be sure to discuss the role played by opportunity cost in your answer.

4. “Education is a basic right. Just as primary and high schools is free, so, too, should a college education be free and guaranteed to every Cypriot.” This statement can be analyzed by using the economic concepts discussed in this chapter to answer the following questions:

(a) What would be the opportunity cost of providing a free college education 

     for everyone?

(b) Is providing this education free from the perspective of society as a   

     whole?

5. Indicate whether each of the following statements is positive or normative. If it is normative, rewrite it so that it becomes positive. If it is positive, rewrite it so that it becomes normative.

(a) The government should lower the inflation rate even if it lowers national   

     production.

(b) A tax on tobacco products will decrease their consumption.

(c) Health care costs should be lower so that poorer people can afford quality 

     health care.

ANSWERS

True/False

1. F Scarcity exists because people’s wants exceed their ability to meet those wants, and this fact of life is true for any person, rich or poor.

2. T Macroeconomics studies the entire economy; microeconomics studies separate parts of the economy.

3. F Almost always, goods and services can be produced in many different ways, so the “how” question must be answered separately from the “what” question.

4. F The “how” question asks, “How are goods and services produced?”

5. F The “for whom” question is one of the three microeconomic questions.

6. T The question gives the definition of a tradeoff.

7. F Businesses almost always can produce their products many different ways, so they face a “how” tradeoff when they choose which method they will use.

8. T The opportunity cost is the hot dog that was foregone (given up) in order to buy the pizza.

9. F Although a positive statement is, indeed, about what is, a normative statement tells what policies should be followed.

10. F Ceteris paribus, Latin for “other things being equal,” is used in order to focus (εστιάσουμε) on the effect from a change in one factor alone.

Multiple choice

1. b Scarcity refers to the observation that wants are unlimited but that the resources available to satisfy these wants are limited.

2. c Macroeconomics studies the national economy as well as the global (παγκόσμια) economy.

3. d “Why” is not one of the three big microeconomic questions.

4. a The “what” question asks in part, “What goods and services are produced?”

5. d People with high incomes will get more goods and services than those with low incomes.

6. c The opportunity cost of an action is the (single) highest-valued alternative foregone by taking the action.

7. c Because the resources are used to build a hospital, the opportunity of using them to build a highway is given up.

8. b Positive statements describe how the world operates.

9. d This statement is the only one that tries to describe how the world actually works; all the others are normative statements that describe a policy that should be followed.

10. d By including only essential details, economic models are vastly simpler than reality.

11. b Ceteris paribus is the economic equivalent of a controlled experiment: Its use allows us to determine the effect from each factor alone even though many factors might play a role in affecting a variable.

12. b In this case, the fallacy of composition is arguing that what is true for a part must necessarily be true for the whole.

13. b The usual post hoc fallacy is to claim that one event caused another because the first event occurred before the second.

Short answers

1. This claim is not correct. Scarcity will always exist. Scarcity occurs because people’s wants are basically unlimited, but the resources available to satisfy these wants are limited. As a result, not all of everyone’s wants can be satisfied. For instance, think about the number of people who want to spend all winter skiing on not crowded slopes in Troodos. Regardless of the level of technology, there simply are not enough ski slopes available to allow everyone who wants to spend all winter skiing alone to do so. Not crowded ski slopes are scarce and will remain so. Because not all the goods and services wanted can be produced, choices must be made about which wants will be satisfied and which wants will be disappointed.

2. The four factors of production are land, labor, capital, and entrepreneurship. These are the resources used to produce goods and services, so the question asking how goods and services are produced asks which factors will be used. People earn their incomes by offering factors of production for use. Land earns rent, labor earns wages, capital earns interest, and entrepreneurship earns profit. The answer to the question asking for whom the goods and services are produced depends on people’s incomes. So, for example, if more land is used to produce goods and services, then land owners’ incomes will be higher so they will be able to buy more of the goods and services that have been produced.

3. The decision to buy a hot dog shows a tradeoff because you have given up your money in exchange for the hot dog. The opportunity cost of buying the hot dog is the highest-valued alternative given up. For instance, suppose that if you had not decided to buy the hot dog, you would then have used the money to buy a Big Mac from MacDonald’s. In this case, the opportunity cost of buying the hot dog is the forgone hamburger because that is the highest-valued alternative given up.

4. The answers are:

a) Even though a college education may be offered free, opportunity costs still exist. The opportunity cost of providing such education is the highest valued alternative use of the resources used to build the necessary universities and the highest valued alternative use of the resources (including human resources) used in the operation of the schools.

b) Providing a free college education is hardly free from the perspective of society. The resources used in for free college education would no longer be available for other activities. For instance, the resources used to build a new college cannot be used to build a hospital to provide better health care. Additionally, the time and effort spent by the faculty, staff, and students operating and attending colleges has a substantial opportunity cost, namely, that these individuals cannot participate fully in other sectors of the economy. Providing a “free” college education to everyone is not free to society!

5. The answers are:

a) This statement is normative. A positive statement is: “If the government lowered the inflation rate by 1%, then national production would fall by 1%.”

b) This statement is positive. A normative statement is: “We should impose a tax on tobacco products in order to decrease their consumption.”

c) This statement is normative. A positive statement is: “If health care costs were lower, more poor people would receive health care.”
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